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Results by Question

1. Please do Question 1 which is displayed on the screen in class. (Short Answer)
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2. Please do Question 2 which is displayed on the screen in class. (Short Answer)

Responses

Percent Count
ON)(c) 56.36% 31
O(N~2) 12.73% 7
o) 5.45% 3
O(LOG(N)) 3.64% 2
O(NAN) 3.64% 2
0 1.82% 1




B 1.82% 1
LOG(N) 1.82% 1
N(c) 1.82% 1
NA2 1.82% 1
NLOGN 1.82% 1
O(LOGN) 1.82% 1
O(N!) 1.82% 1
O(NA10) 1.82% 1
S(N) 1.82% 1
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3. Please do Question 3 which is displayed on the screen in class. (Short Answer)
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4. Please do Question 4 which is displayed on the screen in class. (Short Answer)

Responses

Percent Count
O(N) 41.82% 23
O(NA2)(c) 25.45% 14
o(1) 545% 3
O(LOGN) 3.64% 2
OLOG(N) 3.64% 2
0 1.82% 1
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5. Please do Question 5 which is displayed on the screen in class. (Short Answer)
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